

Beachte Punktrechnung vor Strichrechnung:

$$3 + 4 * 2 - 5 = 3 + 8 - 5 = 6$$

$$4 * 2 - 3 * 2 + 5 = 8 - 6 + 5 = 7$$

$$7 * 8 - 3 * 5 = 56 - 15 = 41$$

$$20 - 4 * 5 + 3 = 20 - 20 + 3 = 3$$

$$8 * 9 - 3 * 2 + 4 * 4 = 72 - 6 + 16 = 82$$

$$5 + 4 - 3 * 5 + 6 * 2 = 5 + 4 - 15 + 12 = 6$$

$$7 * 7 - 3 * 4 = 49 - 12 = 37$$

$$5 * 5 - 10 + 3 * 3 = 25 - 10 + 9 = 24$$

$$4 * 4 * 2 + 5 + 5 = 32 + 5 + 5 = 42$$

$$15 + 15 : 3 - 4 = 15 + 5 - 4 = 16$$

$$20 : 4 + 5 - 6 : 3 = 5 + 5 - 2 = 8$$

Beachte Punktrechnung vor Strichrechnung:

$$(2 + 3) * (4 - 2) = 5 * 2 = 10$$

$$8 + 4 * 2 - 4 = 8 + 8 - 4 = 12$$

$$(3 + 4) * 6 - 3 + 4 * 6 = 7 * 6 - 3 + 4 * 6 = 42 - 3 + 24 = 63$$

$$3 * 6 + 2 * 12 = 18 + 24 = 42$$

$$\begin{aligned} \left(\left((2 + 3) * 4 + 2 \right) + 2 * 2 \right) * 3 &= \left((5 * 4 + 2) + 4 \right) * 3 = (20 + 2 + 4) * 3 \\ &= 26 * 3 = 78 \end{aligned}$$

$$-3 + 4 * 5 - 8 * 2 + 5 = -3 + 20 - 16 + 5 = 17 - 11 = 6$$

$$3 + 24 : 6 - 2 * 2 = 3 + 4 - 4 = 3$$

$$12 - 8 : 2 + 12 - 2 * 5 = 12 - 4 + 12 - 10 = 8 + 2 = 10$$

$$3 * (3 + 4) * 2 - 4 = 3 * 7 * 2 - 4 = 42 - 4 = 38$$

$$(3 + 4) * (5 - 2 * 2) + 4 * 2 = 7 * (5 - 4) + 8 = 7 * 1 + 8 = 7 + 8 = 15$$

$$8 - (2 * 3 - 4) * 2 = 8 - (6 - 4) * 2 = 8 - 2 * 2 = 8 - 4 = 4$$